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C" a2 / ,C}~37_7 M. A. THIRD SEMESTR (CBCS) EXAMINATION
MONDAY, DATE: 10/04/2017
TIME: 02:00 p.m. To 05:00 p.m.
PAO3CECO03 - QUANTITATIVE ECONOMICS

No. of printed pages: 02

Note:  Figures to the right indicate maximum marks of the question. Total Marks- 70

oltl:  wuel iy ealdelt s Ustoll HeviH o el D, $A QL : 70

Q-1 (A) Explain one commodity model with illustration. W5 caq ¢%st? W3 GELSRL AR UM

(B) A farmer wishes to mix fertilizer that provide a minimum of 15 units of potash, 20 units of
nitrates and 24 units of phosphates. Brand-1 provides 3 units of potash, 1 unit of nitrates and 3
units of phosphates; if costs Rs. 120. Brand-2 provides 1 units of potash, 5 unit of nitrates and 2

units of phosphates; it costs Rs. 60. Then find out the least cost combination of fertilizers that
will fulfill the requirements.

Ws Wged vl HIst sl B B ¥ ¥ Wl el 15 NsH Welal, 20 AsH Alfge el 24
AgH gz Y3 W3 ollos-1, 3 Asx Walel, 1 AsH ogFe v 3 AsH §ade YL ud ® 26ll
[BUet 3. 120 B. dlles-2, 1 Asu Walal, 5 AsH olldde wa 2 AsU §de YL U3 B Bl
(et 3. 60 B. l viiclze] A elaet NN 3 B et WA w3R21A YA 52

OR (u2clt)

(i) Give the meaning of equation. Describe its types with appropriate illustrations. How does
equation differ from function?- explain

wllsuiell wel il Aot ysidoll dloa Gelgrel ARt uxagedl 2wl ellszel Qe 3l
Ad % Ul B7? — Ao A

(i) If the demand and supply functions of a commodity are 110 — 2P — 2P% and 4P + P? - 34
respectively then find out the equilibrium quantity and price. If the Government give subsidy of ¥
2 per unit, what will be its impact on equilibrium price and quantity of this commodity? Also {ind
out (1) total benefit of consumer (2) total benefit of producer (3) total burden of this subsidy on
the Government.
% W crcgell HdL A YRasl QR wegsA 110 — 2P — 2P WA 4P + P2 — 34 Q=
el weell el Buc el ol U512 L clie) UR AsHEls T2 uolldl 2D A areoll
Angell (BHel U w22l UR g 2R UB? (1) AUs5oN FE Cllel (2) GAUESoN 5EL Alel AU (3)
U ISl UR81R URell gt Q%) el s,

Q-2 (A) Give the meaning of matrix. Explain the addition and multiplication rules of matrices with
appropriate illustrations, .

ARsel el . ARSo HRCUOU A JRUSIRA R0 et GEls0L UBA HHodl
(B) For the three-sector economy, an input-output coefficient matrix-A and final demand matrix-F
are as follows. Using this information find out total output of each sector.

R-802 weldat W Abiot-Gedleot wisal ABS — A 2 Beizoll Hivwell ABs —F A Yot
B, A H3cloll Gudot 53 €35 Astef et Geuleat AL,

03 02 02 80
A=|02 01 05 F=(30
02 04 0.2 50
(C) State the properties of determinant. [R2iasetl Rt weud,
OR

() Provethat A -A'=T @ sA 3 A-A'=1L

(i) Explain the method to solve the simultaneous equations using Cramer’s rule with illustration.
SHRell [RaMoll Guallat 31l yatud wHlsRelett Gieell Ald Gelszel Uld WHemdlL

(i) Narrate the usage of matrix analysis in economics. AR AQ 5 QeAuRlell GURG ce{dl.
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»-3 (A) Explain the statistical and mathematical definitions of probability with their limitations. 09
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|Number of Employees

%'{G{LCloilcrﬂ_ 2issiou®a v uRRs cavenll duell Halell UEd uHena.
Narrate the types of set. 2l@letl Ys(2L cldell. | 06

The probabilities for winning threc horses X, Y and Z in race are 1/2 , 1/5 and 1/ 4 05
respectively. Then find out the probability for winning minimum one horse while running all
three in (1) one race and (2) in different races.

0L AL X, Y U Z ol 2204 eteuedl detant e 1/, 1/g wa 1, 8. dlwt count
Aol st (1) As o 2l AR (2) YLl YEl el Elsctl Bl Al ol WG As WS A
Aoll iedciett L.

OR
Write a detailed note on mathematical expectations. JU@(cls UtaRA WR [Qoatd ol el 06
Give the meaning Of series. Explain the types of serics with iliustration. 06
Al vl 2l Aellet usRL GElgRRL WA Ml
The data of 50 match boxes containing 40 matches are as follows. Assuming this distribution as 05

binomial distribution, find out the probability for being 3 matches without sulfur out of 5
matches.

40 Aaitel el 50 Aarriellsl AAAA HBA A 3ot B, 2 [@ctRRi GBuel @Rl
a3 wdl 5 uiel 3 Acuoll slus Rstioll flatoll Houdstt A,

match without sulfur (21tLs Qettell Qlenatefly 0oj 11213 [4]5|6
Number of match box (€letaollell Ao 2var) |5 {14 1510 {4 (2] 0

Narrate the properties, limitations and usage of mean, median and mode. 09
HERLs, HERLR A slgetsell OJalelll el Halerlle] adlet 52,

Using the following data regarding income and number of employees, draw the Lorenz curve 08
and interpret it. Narrate the usage of Lorenz curve in economics.

A2 wdel s wUA sHel el HBAA Gualal 5ol ARedd s A3 wa el
eltieet 53, Alataii AReos dsell GUALN aeldl -
Income (lcl5) 0 — 500015000 — 10000{10000 —20000[20000 ~ 40000|40000 — 50000

5 10 18 10 _ 7

(stetRell Avall)

OR
What is data? Discuss the various types of data with illustration. 06

WRA R 97 HBdlet QY ysi Gzl Hed Al

Give the meaning of dispersion. Briefly explain the various measures of dispersion. 05
yattzell 2ol L Yot QR el dsul el 2.

From the following data compute the upper and lower quartiles, Dy, Ps and Pgo. 06
Al wiB el uzell GUEl A ol 2Uciels, Dy, Ps vlol Pog o{l atatctdl 52

Marks (9}8L) <10l 10—20] 20 — 40| 40— 60| 60 —80 >840\
Number of Students (Raelklell dva)) 8 | 10 2 25 0 | 5 \
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